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QUESTION 1

Which method can be used to deploy a VMware Cloud on AWS software-defined data center? 

A. VMware Data Center Command-Line Interface 

B. AWS Management Console 

C. REST APIs 

D. VMware vCenter Server 

Correct Answer: D 

 

QUESTION 2

The Tier-O (TO) router will send northbound packets through which device? 

A. The AWS Elastic Network Adapter (ENA) of the VMware ESXi host that the active TO Edge virtual machine is
currently running on. 

B. The AWS Elastic Network Adapter (ENA) of the VMware ESXi host where the packet is originating from. 

C. The AWS Elastic Network Adapter (ENA) of the VMware ESXI host that the passive TO Edge virtual machine is
currently running on. 

D. The AWS Elastic Network Adapter (ENA) of the VMware ESXi host that is currently the least utilized. 

Correct Answer: C 

 

QUESTION 3

Which VMware solution provides customers with the ability to query and graphically display activities for audits, events
and custom real-time alerts for the VMware NSX-T firewall running in VMware Cloud on AWS? 

A. VMware vRealize Network Insight Cloud 

B. VMware vRealize Log Insight Cloud 

C. VMware vRealize Operations Cloud 

D. CloudHealth by VMware 

Correct Answer: C 

 

QUESTION 4

Which two statements are true about the characteristics of the Default Storage Scale-Out policy? (Choose two.) 
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A. Elastic DRS automatically sets to the Default Storage Scale-Out policy, adding hosts only when storage utilization
exceeds a certain threshold. 

B. When the storage threshold of the Default Storage Scale-Out policy has been resolved, Elastic DRS automatically
performs a scale-in operation. 

C. The Default Storage Scale-Out policy storage threshold level is set to meet SLA requirements and can not be
superseded by other Elastic DRS policies. 

D. The Default Storage Scale-Out policy thresholds for CPU or memory usage are set higher than the other Elastic DRS
policies. 

E. The Default Storage Scale-Out policy storage threshold is set 5% higher than the other Elastic DRS storage policies. 

Correct Answer: AC 

 

QUESTION 5

Which two accounts are mandatory prerequisites for the successful deployment of a VMware Cloud on AWS solution?
(Choose two.) 

A. A VMware vCenter Server account 

B. An AWS account 

C. A VMware Cloud account 

D. An Amazon Elastic Compute Cloud (EC2) account 

E. A VMware Cloud on AWS account 

Correct Answer: AE 
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